(% %) B 5 HEwp

SRERT AT ALY % R
SRR T R e
2010/04/29

T

WA R TR %Y iR 3 S Windows XP i £ 32
e Unicode * 75 » Unicode P = £ fxékiz F 70194 B =% » m XP ¥ &t
A2 20902 BF (FHrd - )0 P AEZFEHUEFNAE b
F %%, 3016 &0 " B, F > Unicode % #% §_28D91 > o »> XP ¥ 2 L 3% »
RIS TPAL .

% - ~lUnicode #F #&Z% %B % &K

Unicode ATHF B | ATH g R R BF WinXP
1.1 % 20902 4E00-9FFF 20902 ¥
3.0 = 6582 3400-4DFF 27484 * R
3.1 "= 42710 20000-2A6D6 70194 * L E

-~ BRI ESE ST

(2 2 ) 6" B3 22B > 3HATH X 222 B3F7 011
B# 8 Windows XP st B2 7 chF > 4 338 = 5 ¥ o 11 BF 2 8
SHF S FAE 13T K o

HAZS Q@B 154 F 5T meE- (¥ 32) BB 4
B o
(=) %% Bighx 3 2 F 5 6217 B > %%.d 1 3 6217 -

S ) #F L EREEF
(Z) = B3z Ehli Rk
(=) Bigh: i F «hBigh 7§ -

(7 ) Unicode : i F *t¥t & < Unicode #&



(=) WinXP : i 3 % Windows XP eh¥t 3 25 -
(=) #%3% : Windows XP # i #5252 3 5
() Hmweb] By ? el lamie F 22 Bth Flo “hldeT™
1-ﬂ@*&&iéﬂﬁ“iéﬁ%QWW%@’@agﬂﬁiﬁa
LR AVRREFER O EAE R B
A Xk i’w%%ﬁiﬂ‘gzmuﬁ% 5.8 T

PR > g TR Bio

Wit- ~ (B E) #EELAITE

B ié #g=x | Bigd | Unicode | WinXP | #5 & %
F
2836 = 15 | 9B49 =
2837 = 17 | 9B4A =
3016 i1 2 9C60 | 28D91 A %
3068 = 16 | 9CB6 =
3069 = 16 | 9CB7 =
3071 = 16 | 9CBY =
3072 = 16 | 9CBA =
3073 - 16 | 9CBB -
3074 == 16 | 9CBC ==
3891 ha | 81DC | 6159 7
3930 # | 8244 | 6901 %




i

S B #g=x | Bigd | Unicode | WinXP | #5 & &3
%

3974 /N 9 8270 7240 P
4034 i 2 82CE TA49 A
4080 z 8 82FC TFA3 *
4104 % 1 8355 8385 f

.- B ’Eg':?!: A
4132 12 | 8371 n A

% o
4146 # 1 83A1 89A9 R
4460 h 1 85A1 52D1 S

Wl -4
4733 1 8756
]

5048 i) 6 8957 36F0 - M B
5292 g 1 8ADO 65C9 3
5860 7 | 301 | C6D3 65E0 %




